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GUESS PAPER - 2007  

CLASS – X

MATHEMATICS                        
MARKS: 80   









Time allowed: 3 hours       
General Instructions:-
· All questions are compulsory

· The question paper consists of 25 question divided into three sections A, B and C. Section A contains 7 question of  2 marks each,  Section B is 12 questions of 3 marks each and Section C is of  6 questions of 5 marks each..

· There is no overall choice. However internal choice has been provided in two questions of two marks each, two questions of three  marks each and two questions of  five marks each

· Write the serial number of the question before attempting it.

· In question on construction, the drawing should be neat and exactly as per the given measurements

· Use of calculators is not permitted. However you may ask for mathematical tables. 
Section - A

1. Solve    for  [image: image46.png]
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OR

The incomes of X and Y are in the ratio 8:7 and their expenditures are in the ratio 19: 16. If each saves Rs 1250, find their income

2.  Simplify  
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3. Solve for 
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OR

 Using quadratic formula, solve the equation for 
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4. Determine the A.P whose 3rd term is 16 and the difference of 5th term from the 7th term is 12
5. [image: image1.wmf]x

In the given figure  PT = 12 cm, AB = 7 cm Find PA.
6. A watch is available for Rs 485 cash payment or for some cash down payment followed by three equal monthly instalments of Rs 130 each. If the rate of interest charged under instalment plan is 16% p.a. find the amount paid as cash down payment.
7. 40 cards numbered 1, 2, 3, ….39, 40 are put in a box d mixed thoroughly. One person draws a card from the box. Find the probability  that the number on the card is 

         a)  a  prime   b)  divisible by 3    c)  perfect square    d ) Divisible by 3 and 7 both

Section B

8. Solve graphically
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9. The H.C.F and L.C.M of two polynomials 
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 respectively. If 
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, determine Q(x).
10. A man borrows some money on compound interest and returns it in two equal instalments in two years. If the rate of interest is 5% and annual instalment is Rs.4,410, find the money borrowed.?
11. The sum of the 5th and 7th terms of an A.P is 52 and 10th term is 46. Find the A.P.

12. A rectangular field is 16m long and 10m wide. There is a path of uniform width all around it, having an area of 120 sq.m. Find the width of the path.
OR

`The speed of a boat  in still water is   15 km/h. It can go 30 km upstream and  return downstream  into the original point  in 4 hours  30 minutes. Find the speed of the stream.

13. Draw a circle of radius 3.5 cm. From a point P outside the circle at a distance of 6 cm from the centre of the circle, draw two tangents to the circle.
14. P and  Q  are  midpoints of sides  CA and CB  respectively of triangle ABC, right angled at  C. prove that  
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15. A 20metre deep well with diameter 14metre is dug up and the earth from digging is spread evenly to form a platform  22m x 14 m. Determine the height of the platform

16. Prove that [image: image15.wmf]A
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OR

          Evaluate  
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17. Find the circumcentre of the triangle  whose angular points are (4, 3) , (-2, 3) and (6, -1)

18. Determine the ratio in which the point 
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 divides the join of A (7, -2) and B(-5, 6). Also find the value of 
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19. The expenditure of a  household on various heads is given below:

           Draw pie-chart depicting the above data

	Head
	Food
	Rent
	Education
	Miscellaneous

	Percentage of Expenditure
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Section C

20. The mean of the following frequency table is 50. But the frequencies 
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 in classes 20 - 40 and 60 – 80 are missing. Find the missing frequencies.

	Class
	0 - 20
	20 - 40 
	40 - 60
	60 - 80
	80 -100 
	Total      

	Frequency
	17
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	32
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	19
	100


21.  Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of any
           two corresponding sides.

[image: image43.png]

Using the above result do the following:
 In the given figure DE ((BC and AD: DB is 5:4. Find  [image: image27.wmf])
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22. If a chord is drawn through the point of contact of a tangent to a circle, then angles which this chord makes with the given tangent are equal respectively to the angles formed in the corresponding alternate segments. Prove.

Using the above theorem, do the following:

In a cyclic quadrilateral ABCD, the diagonal CA bisects (BCD. Prove that the diagonal BD is parallel to the tangent at A to the circle through the points A, B, C and D

OR

The degree measure of an arc of a circle is twice the angle subtended by it at any point of alternate segment of a circle with respect to the arc. Prove  

         Using the result prove the following

[image: image44.png]


         ABCD is quadrilateral in which A is the centre of the circle. Prove that  
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23. The angle of elevation of the top of an unfinished tower at a point 
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  m away from its base is 
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. How much higher more the tower must be raised so that its angle of elevation at the same point may be
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OR.

 At the foot of the mountain the elevation of its summit is found to be 
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after ascending one km   towards the mountain up a slope of 
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inclination the elevation is found to be 
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60

. Find the height of the mountain..

24. A solid is composed of a cylinder with hemispherical ends. The whole height of the solid is 19 cm and the radius of the cylinder is 3.5 cm. Find the weight of the solid if 1 cu. cm of metal weighs 4.5 gm.                                                                                                                                                             

25. The annual income of Yuva Raj Patel is Rs. 3, 80,000 exclusive of H.R.A. he contributes Rs7000 per month in his provident fund and pays an annual premium of Rs. 35,000 towards life Insurance Policy. He also invested Rs.15, 000 in NSC. He donates Rs 25000 to the National Defence Fund  (100% exemption) Calculate the income tax paid by him in the last month of the year, if his earlier deductions for first 11 months for income tax were at the rate of Rs 2000  per month.

Use the following for calculating the income tax:

	a) Savings :                

	100% exemption for savings upto 1,00,000 



	b) Rate of income tax
	

	         Slab
	Income tax

	i) Upto  Rs 100,000
	No tax


	ii) From Rs 100,001 to Rs 1,50,000
	10% of the amount exceeding Rs 100,000

	iii) From 150,001 to Rs 2,50,000
	5000 + 20% of the amount exceeding  Rs 150,000

	iv) Above Rs 250,000
	Rs 25,000 + 30% of the amount exceeding Rs 250,000

	 c)  Education Cess
	2% of the tax payable.


Ans: 1.(1,1) 2.  
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4.  28, 22, 16, …5. 9cm  6.105 7.
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 10 Rs 8200. 11. 1, 6, 11, … 12. 2 m or 5 km/hr 15. 10m 16. 2  17. (1, -1) 18.(3: 5, b = 4) 20 
[image: image40.wmf],

18

1

=

f

 
[image: image41.wmf]14

2

=

f

 21.
[image: image42.wmf]81

25

23. 80m or 1361 m 24. 2.88 kg 25 = Rs 5030
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